.     Factorising Quadratics A    .
Factorising and expanding 

are opposite processes

Factorising divides into groups


(putting in brackets)

Expanding combines groups together


(taking out brackets)

Factorise…Remember again Farmer Bob and his fields?



.     Factorising Quadratics B    .
Find two numbers which multiply to the constant term

and add to the coefficient of x (number by x)
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7) x2 – 7x – 18 = 








8)  x2 – 3x – 4 =








9) x2 + 7x – 18 = 








10)  x2 + 2x – 24 =








11) x2 + 2x – 15 = 








12)  x2 – x – 20 =












































Factorise these quadratics:


1) x2 + 7x + 6 = 








2) x2 + 5x + 6 = 








3) x2 + 5x + 4 = 








4) x2 + 10x + 25 =








5) x2 + 10x + 24 =








6) x2 + 14x + 40 =








Area = x2  + 6x + 9





Area = g2  + 7g + 12





Factorise


1)  x2  + 5x + 6








2)  x2  + 7x + 10








3)  x2  + 9x + 8








Area = m2  + 6m + 8


What is the length and width?





factorising





expanding





x2 + 4x + 3





(x + 1)(x + 3)
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